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N.B (1) Question No.1 is compulsory. _
(2) Attempt any three questions out of remaining questions.
(3) Use of IS 456 is permitted. - : : {7
: _ /\Q, :

1 Figure below shows a typical framing-plan for a office building. The design !ive\Q
load is 4 KN/m? and floor finish load is 1.5 KN/m?. All extemnal beams and be%
Bm4 and Bm10 are supporting 230 mm thick brick wall. Floor to floor hei '
3.2 m. Grade of concrete M 20 and steel Fe 415. All columns are 300 m 00

mm. in size Q\_\
& ,-2*00-—;—@700—,42700-;-‘2709-11 n—-—-300 (<</(/

®
Design and draw éﬁ?ﬂble skétches showing designed reinforcement for,
(a) Slab Sbs-Sb; 2 ¥ : ' : 15
(b) Beam Bmy-Ema . . 25

Draw to U@*L\sale suitable sketches showing designed reinforcement.
_ ' <<<OR>>>
1.  (a) Design \by aparoximate method a rectangular R.C.C water tank 6.0 mx4.0min 32
pla g<rft:l 3.3 m in height. Tank is resting on‘firm ground. Design side walis and
b..sd slab. Grade of concrete is M 25 arid steel is Fe 415. Check the design for
\;safe stresses. Draw plan @ 1.0 m above base showing reinforcement. '
3 Also draw necessary sections showing reinforcement detail.

.\((1’; Explain with sketches various type of joints for water tanks. 08
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2 QP Code : 8131

2 Design a doglegged staircase for a office building as shonw in figure given in 20
Q. No. 1. Also show arrangmant of flights giving details. Draw reinforcement
details for both flights. Use M 20 grade concrete and Fe 415 steel.

3 A reinforced concrete canilever retaining wall is supporting 2 backfill of height 2C Q'S
42 m above ground level with, Density of soil = 16.5 kN/m®,  Angle of (@

repose = 30° , S. B. C. of sail = 195 KN/m? and coefficient of friction between_

concrete and soil = 0.45. Design stem and toe of wall and show all stabilit/

checks. Draw reinforcement details of toe and stem showing curtailment-of :
renforcement. Use M 25 grade concrete and Fe 500 steel. @ i

P

4 (a) Design a circular water tank using 1S code method for the pac@%% 350 m> 15

Depth of water in tank is limited to 4.0 m including free board. nnection

petween wall and base siab is rigid. Use M 25 grade concrete e 500 steel. i

(b) 1.Explain when following types of foundation are preferred- - 05 |
1. Isolate footing <<'/\_h
2_Combined footing é( :

; 3. Raft foundation 7
2. Explain with neat skatch difference in the behav@“% cantilever and countrfort

type retaining walls. o
: NV
5" Design and draw with the data given in Q. @9 20
Raft foundation as shown in figure by cQ line supporting the columns with
working loads as given below. Net capacity = 65 kN/m®

A1, A3, C1&C3 =800 kN

B1 AZEE c2 =1000 kN

B2 ¢ =1600 kN
N |
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Table 1
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TABLE § 1xrvaf(ON IN CIRCULAK RING W FIXED RASE, FREE TOP AND
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TABLE «x o<EAR AT BASE OF CYLINDRICAL WALL B.
{WS.I.I, 3.1.2 and 8.1.5) C_\;( Bl
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_ ©) . Q1
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